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SCIENCE
Full Marks - 50
Pass Marks - 20
Time : Three hours
Answer ail questions.
‘The figures in the right hand margin indicate full marks for the questions.
SECTION-A
CHEMISTRY

(Marks - 26)
Answer Question Nos. 1 10 4 in a sentence, a word, or a phrase.

1.  Whyis HF a polar molecule ? ]
M- whelmss aof w@de Csels moelmie® 7
HY (s i cor=g o FRs

2. How are kemncls held together in a E]'lELEl! 7 |
WOWH WLRE EPeeInlme moRe ECERe TREWe 7
CRUT ST el ML SRl T erae 2

3. Write the balanced equation for the reaction between sodium hydroxide and sulphur
dioxide. 1

Contd.



CPHEITE ABEEPIORE WROD OIES AETCTOsEREm Beess T elfueresnet 3eEcEe W
BEHECES BR

IfEn FRLATAIRE WURE Heigd wawdne feae (yreen Rawm® (e oFe
Lo 5 |

4.  What chemical change is expected in the ar when hightning occurs during thunderstorm ? |
fm- poofs ¥Em @see Coln @Rms S § mel @At 2em AEme 7
e-sfire (B (ENERE (RSN TEW IR TE LW WIS TN 7

Answer Question Nos. 5 to 8 in about 30 words.

5. Whatis an alloy ? Give one important advantage of an alloy over its components 7 2
weets Ansel mefe® T wedsns oerels isARTofmart oese ool dees Jsme 1

6.  Take about 10 ml of dil Na,CO, solution in a beaker. Add two drops of methyl orange
indicator into it. What is the colour of the mixture ? Now add dil HCI soluiion drop by drop

into the beaker till the effervescence stops. Add a few more drops of dil HCL What will be

the colour of the solution now ? 2

Na,CO, rrgoe wrrt 10 ml &w sfme wra o1 man ksl oeeee seafmemor! ae*m
wefRr® Amartiz i &frRe CErf &R @efe®? mEs sofo Ates 1O se sots gt ovse
@O IMrerm 2enpefies Amntizy weofds aErt Stm Rer geer Amafiz otane
warT &R el asomer T

Na ,CO, e st 10 ml 2 &2 = coen | wpn fenssn ez B%madast g
winarge greifog | s =Sl o s 7w B A HC 9 o g S&
(TS (B (Ao e ZieifoR | EHE WA oot <l o 2rihE | coep e
a5 o7 aefa 2

7. What are the word root. primary suffix. secondary suflix and secondary prefix of

2-chloroethanol ? 2
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eI s Rl s Mo o, TSR CHENe, crmeE R ERme WRes crmemme meelEfrEe
mirf merlE® ?
2-chlorocthane! 7 T1€E21 word root, primary suffix, secondary suffix and secondary
prefix o R 7

8. Draw 2 proportionate structure of graphile showing the bond togcther. z
weEarf wrins swe PeEsvEl AD HECOS ONFTRS RS |
ST TTIEE FE AT PEERAS] *EE (RS |

Answer Question Mos. 910 11 inabout 30 words.

9,  Describe the preparation of soap from fat. Write the relevant chemical equations. Why is
soap not suitable for washing in hard water ? 3
Fat wrf cimte mese gosre A6sn Srs 1wt 2o el GEACmeR 5 i Ef oese! ks
cimtest A Awes ofclees cndewe’s mefmie 2
Fat 51 7o 081 W420s! 9y TIE | ¥ Jo] (RRes 3wy 3 | reasivaet
AT 216 aibav ffdma refam oSz 2

10, Give ene example cach of (1) thermal decomposition. (i) electrolytic decomposition and
(iti] photochemical decomposition. Give the equations, 3
(1) vowea sfmrmeeioe (i) se-rsPensnter atmrmteor wked (1il) Beteewtee afmrmtzfoe
mf ®ER WEEF MR I BEAnenfns BRI
(i) Amie femrenfeom, (i) SEreEs e fhersnferm =g (iii) CFLoEacea
e Y e Ay | e 5T |

11.  Describe the methods of reduction used {or (1) metals of low activity and (i) metals ot high
acLvILY. 3
(1) Wemrssra mee UPRRE Rew WHon (11) @orrsl fEe 1ss senanfog efamos 75 Fetonfom
MEFTE FOSE,
(i) «fere =91 «Bra) (he W (i) $Fes Tw @3 bRy Beew (8 (Masfang
pisc i RCAC Y
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12.

13.

14.

15.

Answer Question No. 12 in about 100 words.

What is Mendeleev's Periodic Law 7 What arc the merits and demerits of Mendeleev's
Periodic Table ? Why is Modern Periodic Table considered to be an improvement over

Mendeleev’s Table 7 5

memseernEl mertwatr 2 male® ? peewrefn@t meetadair eIt fees weon deessoiog
mof Bofe® 1 Rone meolesir 51 aof Reeseefnml wesaamt emses el Aselsmnt
mafmfe® 1

cHrEETEa crfdafles e R 7 CrreEE® criefte e T W i
= = 7 and cffefis Gew off el Baaa saewa wafs Zaike
RS 7

SECTION -B
PHYSICS
(Marks = 26)

Answer Question Nos.13 to'16 in a word or sentence each.

Define electric power. 1
reewrpahr wie mdss w'Eme @5

TR A g (AT B

Why does the bulk of ron fillings stick to the ends of a bar magnet and not at its centre 7 1
R wims st aref RRfeofose ¢ cEmofo S8 ens ORoD BSAERE dke emee
merfmfe 7

bo fosr cmesidl wrah wfewtaemn e wgefe @ wHE W i T AeTe
SR ?

What 15 electric motor ? 1
REowr i mAyte mefe ?

YrEge canhie sfaran 2
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16.  Why docs a light falling normally on a reflecting surface retrace ? 1
TUTT EREN Edid Whe Swsran Bell waien aoreterels welmie
SyrEpss TETNTE WE W1 GITEER witty wengw wreweipa o8 0

Answer Question Nos. 17 to 20 in about 30 words cach.,

17.  Metallic electric appliances must be connecting to earth wire. Why ? 2
eyt (98 Heemrwsef Il mewewrolns Cos dser orrase! | reiefe® s
CRGE T B gaT Colee I 1Y FRIRST AR | S AT 7

18. Draw a series circuil diagram used by symbols containing the following electrical
COMmponents 2
{a})  Abatery
(b Anclectricbulb
(c)  Anopenswiich
(d) Arheostat

mRs miets seewrpgpfowt meyofn wefef KEy ofms 56 offeene o0Fs el 0SS

W NS
(a) @paf om

(b) mewrsplE $1% €K

(c) ewrfoess oRfm o

(d) eromdersees W

wml A TERE conefie wfFF wae Fwa g it oo (9fs sregEh e
(FSG

(a) (B =W

by ‘Ewlde < w0

(c)  *aTErEwaEl A5 W1

(d) (STEEG =
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19, How can we usc geothermal encrgy ? 2
cfw*seome3 seoel more ofcfeowef 2
fasurds Tnie =g flgme’s 7

[

20.  Mention the problems for construction of big dams. {Give two)
wi's sRmfE ciza wRs metseRmfm saw (wera’ mrn)
wrBie Al e €% cogie 3y | (whhw Fiy)
Answer Question 21 to 23 in about 50 words cach.
21.  Obtain the relation of electrical resistivity of a conductor. 3
meEsrEe TRt seemrpefme pezfopfarafinf kol matoes
SACEE TR SR GLeN g e o XA ALAE |
22,  State three advantages of an electromagnet overa permanent magnel 3
RO BPROMES TRE ZDEE Remees CREr! REUHE CARRr KR
LALEIROTSD ST CZEART (RO WA YT Sy B
23.  What are the advantages of AC over DC ? Give three points. <]
AC e DC amf wstosts mef wmefe® 7 mew was misn
AC 1 DC w8 yrmesr o =far 7 v W /g
Answer Question No. 24 in about 100 words.

24, State laws of refraction of light. A 10 cm tall object is placed at the principal focus of a
concave lens of focal length 20 em. FFind the position. size and nature of the image. 2+3=5
waii ! efgfreeet @ofo san 10 cm Aes wg ar 20 om e 2we7 2°0 R 'eEe
eeme whmt mefmofma Bwes Skl 1 sRezet ZEF, C5e eROD R0 WErE
T fprEa i e TEE | 10 om 2191 (I EE 20 em R COTIEH (719 3T SAIeE
FR wwd s coreTe o5 | TeeT AR, WEE TR 1et YT |
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SECTION-C

BIOLOGY
(Marks - 28)
Answer Question Nos. 25 to 28 in one senlence cach.
23. Define food chain. |
Efi R°m wmrfe® siurs
26. Where did the Chipko Movement initially start? !

iR EAReey EREENT FAE-AEr ARt
59 TeTa B SWIERe 2gw -3 CTAEarT 7
27.  Why is CNG considered as a better fuel than diescl for awiomiobiles 1
rrEisInfma (NG ofcferse #fca 45 ofcferser? g8 adef srectdm ke mefmie®
arsTATaEE ONG Migme Swe 9 Mferaea) v & <xEaT) sow R 7
28,  Give one point of difference between Gibberellins and Abscisic acid. 1
rfaaeefeom werirfr Colffl ROEes mthES T mia
faraiEeret axiFihe abree camar i3 = g
Answer Question Nos. 2910 33 1n about 30 words,

24, Describe the process of opening ard closing of stomata.

[

OrERE S EERl SROTESTT KL mene EmIare K i
CRTATEN ST Saiw Su s wiE gy A 3y |
30, Give two effects of deficiency of wodine in the body 7 2
mrsing gRrate dsermant CEeEm fs 0t wefam e
san TG weFTews| a7 U] (Thar whm fey |
31.  What are decomposers 7 Whatl is their function in ccosystem ?
alERmTro mrfe® 7 SElemers R EnT G’ mefe® t

e
-

T e wiam 7 BRI W sl il e 2

[ o]

Id

32, Givetwo poins of dificrences between Social forestry and Agro torestry.
erofEea BaerBeim EoRePErersa i eerd mses el miu

- L gt
T eF ErTEGe LZeETRngSl U OvES T By

e
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34

3.

36,

37.

Draw ancal diagram of sectional view of the human heart and label vight arium, lefi atrium,
right ventricle and Jefl veniricle. 2
rETes EMPEEE! Argut we #0Ts OrRE Wk TS TEOE dht TeReTRE, C°ER wenelww,
RS Tt @ wROD 2oEs nermermant SEvefn S5

TEEdl ST TS T ww Wew SN GRRE TR A1k afiwa, ol e,
%3 (EGEE TR (D (el coR Iz 4TS |

Answer Question Nos, 34 1o 36 in abouwt 50 words cach.
What could be the consequences if adrenal gland is removed from the human body ? Give
three points. 3
RiwEETt ArRDar! urasfe- rées FPreEat met 0N Wsrmrm S5 GRS R
T
Theba T Tme AT T (AT e TE SHIP TR (1R TRy Ay
What are the advantages of propogating plants without using seeds? Give three points, 3
wip ofefese wyeramf wiwie mrst Anesn RRmisnin wefe® 7 mPHEss wak wisn
ey FefGman Sereasl wiigan o5 (Fgeaa LoaesEihe SR 7 oS SEn Ay
“Wildlife maintains a balance in nature.™ Justify this statement by giving three points. 3
“ewerwf cfofoe BN BT dnseae Rl 0 AEFOT RERE ARE WPBES wan i
“orrmd B TR @ SR N |7 IR prw uE (3T wER A )

Answer Question No. 37 in about 100 words.

“Study of Tossils canunderstand about the life forms of the past.” Give [ive points in support
of this statement. 3
“grofaorfe fese ks wref TREREsOfIMT OUREE 28 Rk 1T HERO! 1l A5 MeREy
i wacleg i
“ i Tamel (DAl Towa GEera et wew et wvy )" @Rl 5 2
CoITEeD T FY |
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